'Trigonometry practice
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1. For the angles 60,605, 03,04, &1, P2, @3, and ¢4 above, compute their sine, cosine, and
tangent.
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2. What relationships (if any) do you see between the two (non-right) angles of a right-
triangle in terms of their evaluation of trigonometric functions?

Answer:

There are a number of patterns, here are three of htem.

1
tan(;) = tan(7) for ¢ in {1,2,3,4},

sin(6;) = cos(¢;) for ¢ in {1,2,3,4},

and
cos(0;) = sin(¢;) for ¢ in {1,2,3,4}.



3. Simplify the following expressions
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Answer:

s ) 2 V3
arctan (cos <§>) = arctan (0) = 0, arccos (sm (?>) = arccos (7> =5

i (tan (7)) = arcsin (1) = 5 (sin (3)) = Sk
arcsin ( tan 1)) = arcsin (1) = 5 arccos | sin 3 = arccos 5 | =
3 _
arctan (sin (;)) = arctan (—1) = Tﬁ

arcsin | cos oY = Arccos __\/§ _ T
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4. Simplify the following expressions

an smon () oo (s (1)) o (43))
o (o (1)) s (2)). o ntn (2))

Answer:

an o (J5)) =1 (e () ) =3, s ot (45)) -
o Laeon () = 2 o (1)) 5. s (o (2))

| S

U~



